1.4 Shifting, Reflecting, and Stretching Graphs
Day 1 and 2

|. Common Functions...see page 42 a through f

Il. Rigid Transformations--Basic shape of graph is kept.

Let us explore...graph y = x2

y= X2 -1
y= X2+ 3
y=(x-2)2
y=(x+ 42 N
A) Vertical and Horizontal shifts of f(x).
1.
T Pragc 93
3.
4.

Ex 1) Sketch the 3 graphs on the same axes.
f(x) = x2, g(x) =x2 + 2, h(x) = (x + 2)2
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B) Reflections of f(x).

1. Reflection in the x-axis: h(x) = -f(x)
2. Reflection in the y-axis: h(x) = f(-x)
Ex2)Graphy=-Vx y=v-x =-\x+2

Ex 3) Graph y = x4. Write equations based on what | show you on the graphing
calculator.

Ill. Nonrigid Transformations--graph is distorted/changed.
A. Vertical Stretch:
Vertical Shrink:  See other slide

B. Horizontal Stretch:
Horizontal Shrink:

Ex 4) Describe the transformations if g(x) = |x|

h(x) =3 |x|
r(x)= .2 |x| See next slide
f(x) = |3x|

ue) = [(117)x]
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Ex 4) Describe the transformations if g(x) = x
h(x)=3H Verfica | $Yrebch
— ¥ Ycoord, Ly 2
0= 2| v;r:f,“, Shrqk
Y Coony b.,0
b’,‘; acqfq’ QIA :z —
9= [ax] t 3% rink

Coord. L v
‘\0!7304’1’ Sfrc,cA
u(x) = l(1/7)x, Xy Coond Ly ?

Ex 5) Compare the graph of the function with f(x) = Vx_
py=265 31 horizental Shift (3 vaits 4o right)
2V erbica) Stretch (% yeoon) by 2.)

B) y =-\(5x) + 4

S: hori goata | shrial (¥ Xcoord. by ?k)
=~ reflech gver X~ayic

4. Venljcal 34,9y (‘/wif: u,e)




Ex 6) Compare the graph of the function with f(x) = x3.
A g(x)=-(x-1)3

1 horeortal shiftl lvait right)
=:refleed over X~ax; ¢

B. p(x)=-5(x+2)3.8

2: how ortal ShiPE( 2umits leRT)
St vertica] sfretch (% Y coerd. by, &)
=: PePlet over X~a X/ $

\e.. (,gpf(‘ﬂ'-"ln (P 00;73 (‘w',)
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